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SECTION -1
@uE -1

CHILD DEVELOPMENT AND PEDAGOGY
e faehra wE firermemeR

There are 30 questions in all in this section.
All questions are compulsory. O
WEE H FA 30RHE |

|t g sifEd € & o

1. The National Curriculum Framework, 2005 under ¢he h€ading 'quality dimension’ gives

more importance to

{A) Physical resources

(B] Qualified and Motivated teachers %
S

(C}) Experiences designed for the

of knowledge
{D) Experiences designed for
TEE Niga=dl 9@, 2005 3
@ i s ®

d curriculum reform.

' yirder % 3T=ia oTfues Weea faan man @

B) fuferm wd af
(© s % fa wE ¥ S A Wi s @)
(D) ' ’aagua Td TSHHE YR & |
2. The Natio, riculum Framework, 2005 suggests which of the following

X examination optional

te level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional

(D) All of these.

W weTeat wyeEn, 2005 ¥ 7= § A forg qlen wrad QUi &1 g ™ 2

(A)  Fa- X w1 e e

(B) fornaan faan =t fafim srazael w9 w6t wian g

() wfrEr waw glenstt = ifeos

(D) T § AW

ATTET | PT.0.
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4 [c]
Reducing stress and enhancing success in examination necessitates
(A) A shift towards shorter examination
(B) Examinations te be conducted at different stages of school education
(C)  Annual and half yearly exams
(D)  Setting up of different agencies for conducting entrance exams.
TAE h FH F & whensli § gwea F fog sawas #
(A) &9 Fafy & qlemed § e
(B) formerdt foian =1 fafim =wofl | qfenai 1 Adem
) =t Td gt giem ()O

2

(D) fafim waw gdensit & fau fafim weifaal = s

The purpose of evaluation is

(A)  to label children as slow learner and gifted children

(B) to identify children who need remediation

{C)  to diagnose learning difficulties and pragblemy a

(D) to provide feedback on the extent t
education for a productive life.

i 1 32X §

(A) T w8 Een

B) 53 9t = IEEHS

(C) AfTH s wiSARE o P

(D) IESH Sad A & Q@

For primary school @ en, Which of the following is better ?

(A)  Video simulatio (B) Demonstrations

erierices (D)  All of these.

| & foe f o g sem o € 2

wg'have been successful in imparting

Tl % T9 W e AT

?, TR 9T HA

eIk GiRSUICH|

Thy 7 TR HT I ¥, w1 e weSm w1 g

(") B e
(©) j o T STE (D) THH TN |
Whi e following is more important for keeping the good mental health of

rovision for curricular activities

(B) Freedom of expression

(C) Variety of interests

(D) Teacher's role and school environment.

faenfefg] & ored WA Tare & ¥ WA F fag = § & $9-w 9t sifus Teoqe ¥ 7
(a)  wEdfeE feae &1 yEyE

(B) sfv=fe w1 @=d

() wfaat i =

(D) SEaTIsF Hi Vfem T fomerl SmamEo |

(AT 101
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‘Child belonging to weaker section’ means
(A) A child belonging to such parents whose annual income is low
(B) A child belonging to such parents who come under the disadvantaged group
(C] A child belonging to such parents who come under the category of below poverty
line
(D) A child belonging to such parents whose annual income islo an the
minimum limit specified by the appropriate government.

‘HHSER 91 % o’ § el @ ()O
(a) A SfauEsl % Wad 9 e afife o w9 €
B) U sfrEEt ¥ e | Wt o # o E ¢

© I sfumgesi & wrce A Y TWE @Y Y S A
(D) 1A FfqaES] & aMeTel § A TR gR &1 gifiier 3g & W 9 A9 F
o ¥ A E

at'ff the number of children admitted for
hen the pupil-teacher ratio required is

The Right to Education Act, 2009 spe
first class to fifth class is above tw

(A}  thirty (B) forty
(C) forty-five (D) fifty.
foen =1 srfuer arfufem ) ¥ FAfde foran mar } 5 wan- 1 9 wan-5 % af vaw A ™
Taepfefl =) g < 4 Toreneft- sreaTas STavIS ST RN
(B} g
(D) 9= |

(C) It is conducted to provide information for decision making at a broader level
(D) 1t is conducted to focus on the solutions of day to day problems at local level.
forareres ogaaA & =y O 99 § 4 Fi9-w R udt e ® 2

A 78 ST T e weEE SR S g R o ¥

(B) e fwat fafire guen & wmym & fom feen o §

(C) =IF R W Foi o & o o dohem & & sud fohan s €

(D) g W W U &t wuensll & uuE & ol fhars srgaear fa s § )

(T [ P.T.O.
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10.

11.

12.

13.

14.

:

Which of the following statements is not true about teaching ?
(A) Teaching is modifiable (B) Teaching is formal and informal
(C) Teaching is a scienceas wellasart (D)  Teaching is instruction.
frAddsR-wFE g s d o T8 ¢ ?
&) fosor ¥ gur far s g @ B) fagmr sfraenfiw
() Toer fogm & Wy-wy wen Wt & (D) foreor oTqERA

goNtoplay. Until they

% aviour ?

Some people say that whenever anger draws upon children, they
feel better which of the defence mechanisms is represented b

(aA) Projection (B Displageme

(C) Reaction formation (D) Su tion, ®

T3 Ml & FE § T 9 Ser) ® 7er o A * fole 92t 9 § | 99 9% & T
? 7= He g Tl F, ITh AR ¥ A H # B ® ?

(A)  WHT

€y whafssan fmfo |

Adjustment means accommodatin e to various circumstances in order to satisfy
(A) others (B) motives

(C) goals (D) needs.

TUENHE § aeqd @E H [ B STRe™ O § aife Gp fa =1 v

(&) T A (B) T =Wl

(C) 3EEH @ D) FETFHA F |

Which of the f ingtbehaviours is not a manifestation of emotional disturbance ?
(A) (B)  Bullying nature
(C) (D)  Autism.
=@ “H AR WIEARHS a1H] H YRR T Ha § 2
Y (B) FHEIRI ST (A ATA
Q) sigr (D) &I
A provision for education for the children with disabilities can be done through
(A)  Inclusive education (B) Mainstreaming
Q) Integration (D) None of these,
frsare arer! # foen & foaw waym R s v &
a) wHERE faa g (B) & 4} H S
(C) WA FNW D) 39 9w
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15. Which of the following is not a characteristic of mental retardation ?
(A) 1.Q. between 25 to 70
(B} Learning in a slow pace and unable to do the activities of daily routine
[C) Poor adaptation with the environment
(D) Poor interpersonal relations.
=1 9 | S-9 wefaw 75w #t fae 1@ d 2
() FfsafF 259 70F 91 e
(B) e Tifa & e wE 3 Sfas i fRaedl 1 3w oa

([C) STERY % WY FIHeH H HigA 0
(D) FalEs el F FHER G | (J
16. The temporary change in behaviour due to continuous osu stimuli is called
(A)  Habituation (B) ¢
(C) Temporary learning (D) ioh.
fordlt 38 & faet fed S | =aer & ¥ ame FHEAN §

A) ATGEQ
(C) reurdt st
17. The teachers should not use which
students ?
(A) Coercive persuasion
(B) Repetition of idea or as

ing ways to change the attitudes of

red person
e with a good feeling.

(C} Endorsement by a
(D) Association of th

foenfeiat =t sfvgfaa e o 9 o fafa &1 g3 steus =t @ wn =t ?
() TaE W et aR & foru i &
(B} S D E O I C LA C RN
(C) ERANRCECE R CRSIE N
(D) wifa T |
18. Whicho ollowing statements regarding achievement motive is true ?
A vement motive is necessary for survival

motive may be classified as a growth motive

(C) If the stress is on competition among people, the achievement motive can be
considered a social motive

(D) Al of these.

IqcIfed PN F g AT A - M s g 7
() Syafe A wifad w1 & fau onavas &
B) I =afwg erared &) S mEayyl € @ Iyafer SR €1 fam W #E 5 9ed §

() afe =fwal & "ug yfdafien w o7 &, @ Iuafsy Afayes &1 wmfas v w1
Tl B

(D] 378 &9 |
MY [ P.T.O.
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19.

20.

21.

22,

8 <]

During 6 to 10 years children start taking interest in

(A)  Religion (B) Human body

(C) Sex (D) School.

6@ 10 a4 &I 7wy H o e A WO Hd §

(4 wdd (B) WS IR H

(C) 99wy | D) faeem F

Which theory believes that human mind is like an iceberg mostly hid has three
levels of consciousness ?

(A)  Trait theory {B) Type theory ‘

(C)  Psychoanalytical theory (D) Behavigtirist .

%17 fagra = #ta § f5 o At & 9% F 92
EAH i W I A F AT TR E ? '

() T e (B)

(C) wfawoTs fagr fagr

Which of the following development tas ropriate to the late childhood ?
(A) Learning physical skills neces ordinary games

(B) Achieving a masculine or fi sodial role

(C)  Achieving personal indep

(D) ates.

T o 4 s-w fam ol & I9GH 61 8 7
A AT Fyern, ErEH

(B} ffireadl B TW FE

(C)

(D)

Trainin ce of normal maturation is generally

beneficial with respect to performance of the common skills
B
(C) beneficial from a long range point of view

ful from an overall point of view

(D) beneficial or harmful depending on the method used in training.
A qitvEed | gge wiufeE e g

A)  wEE FivE % e % g | 9ga e g ¥

(B) < faen =X g g @

(€ drenifere B § Arver g @

(D) IVETI 81 41 B, 98 39 W it wear @ o ufvigor o form weem =1 fafy =1 wam
frarmar & |
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24,

25.

26.
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Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of

(A)  Classical conditioning (B) Operant conditioning

(C} Trial and Error (Dj None of these.

ore o w1 U5 S9! fasHt F et qEH B Ed ¥ faae) amed @ ERECIECICI
AR & 1 TS VR A T ITA ¢ | GR-IR I HA qielt ¥ ) PR Fo ¥ qvEE feered
Fgawhdl £ | TS faoel &t T G 3o 8 | TS IS fagr #1 IgEaw
g2

(A) I FTEEA

(C) T & o

s of time with friends
All of these.

(A) Redicule by friends

[C) Cease nagging

HhRieHsk U 1 F ° | -9 :
(& 5 & g 3w | o5 & Wy 99y =g F 6

() g e g S (D) T A asdt
Which of the following s s is not appropriate to motivation as a process ?

(A) e towards a goal
[B) son's biological needs
(€ i ie¥ing a psychological ambition

(D) y from an unpleasant situation.

I T H IR o o &

afs & TR STavahasti #t @gE T 8
(C) TE HANIFTTH TR H TH HE H FEF@ w4 ®
(D) % s F s el A TEm § |

“Toy age' refers to

(A)  Early childhood (B} Late childhood
{C) Babyhood (D) all of these.
‘fael=t =t o' F51 9 ©

(A 9d arcEEsen B (B) SW AT FY
(C) e D) T F |

(TR [ PT.O.
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27. Which of the following is not a characteristic of early childhood ?

{A) Pre-gang age (B) lmitative age
{C) Questioning age {D) Play age.
=1 # | F9-H g areaesen F1 v w1 ¥ 2
(A) T/ 99E U WA F e (B)  STFTU F F e
(C) W F H HFw (D) W T EE |

28. In late childhood period children understand the conversi hich physical
entity(les) ?
{A) Mass B)
(C) Number (D % qumber and area.
IW STeEE ¥ S ifaw argell & fFa aavas @ A AT 90 o € 2
(A) FEEH T '

© FEm

29. The meaning of development is
(A)  progressive series of chan
(B) progressive series of chafge esult of motivation
(C) progressive series ofse ges as a result of motivation and experience

(D] serles of changes & 6 It of maturation and experience.

T &1 a1ef #

(A) ofEdT &t ekendll

(B) o TN T ufiadA &1 STRR SEe

©) i 379 & Hera®Y B AT THEdAl i SUU e

(D) TH ¥E & ForRaed T I qiEdHl & s |
30. i e following statements is not correct about development ?
ch phase of the development has hazards

(B)

(Ci Development is affected by cultural changes

Development is not aided by stimulation

(D) Each phase of the development has characteristic behaviour.
fam & g & F 7 } FR-TMFe I TR ] ?

@) Towm # Q% s F 9w ' T

B) fawm IFEH / Sg@ 23 Q@ & e

) fawm arerfas gitEdHl | guifaa g

(D) fawE ) vl saen & s favmard g ¥



wWug - 10
uTET - 1
fe=t
THERE A FA 30THE |
aut gy offed € ) C
31. T T wmITEm s A= & ? ()

() T R B) T
(C) 7w wiafA vgr s w1 D) %%l
32. ‘w@' T 'ARY G fFA e 2 @
a = sEa Q
(B) ﬁﬂaﬂaﬁmﬁmﬁaﬂ@

©) Toud = #=i ok s i

(
(

(D) foud & sew, ™ e e
33. Wwwm%@ [
A A (B) wleRy
(C) FHEA ¢ (D) <R |
34. A 3
(A) 2 ® f gga € ot 98 Gorn 2
[C) NFUR Tgr & D) FTgTEFEANumaEE
35. fordt & w7 = 357 @ wng Ty faum fag & v e s & 2
) TawEaes R B) @y W IV o
€ YEEw fag D) v o8 |
36. ‘IH’ W faem w= ?
A ITH B T
) = (D) ¥EF |

(LR [ P.T.0.
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37. fAddfra o d o v aem & 7

@) T, TEE, S, A (B) T8, 74, W], FHR
(C) g, foam, T, =g D) Ty, wwry, wefl, w e

38. frawss d 'y symi w81 ¥ 7
@& FE9 B T @
€ Fwd D) FI | O
39. ‘T TEg F gAm frg v A gan ® 7 ()
(B) &

S
) genfA
€ fug ( |

40. foed vgen 1< dEmEEs B i S e FAY Y FEd &
(Al  wHYRY 9AN Q‘Q:ﬁm
(C) =AY THE 6@@) g wure |

41. ‘fauem’ v d §

B) =EvA gy

{a) @iy @
() Towl dfy D) 779 | &E T

¢

42, '957' I W g
@ T+ (B) T+
(C) D) &+
43, f&=d B ¥
A B @
€y = (D)  AfFa
44. 'S’ H AEAT BT
VL B) o
(€} 3m (D)  &ga=H & g |



[<c] 13 L1
45. T v=1 & WM % HTER *1E e T g ¥ IR Fe o 2

@ T B) Tawrl W=
€ g v (D} WY |
46. wel form fagl amen I
(&) WU A A d, w2 (B) W TR S o @
(C) W Y A ¥, HE(E (D) ?ﬁﬁ,m‘@%|
3

47. "I H GEA @ FL ... I§ T FE ek @ ol 91 ? <-

@ T SR WOTgs T (B) B 3a
) A A f W I famn q@ T |

48. WE MR™U 2 %
@ A g ser @) ArEt A X e
C 3@l d y& s % (D) 3@l F FEu e
49. ‘mwﬂm'waﬁlaimf%
A mﬁwm% (B)

ST ST T

© = 5 (D) 'Y e |
50. ‘fer Rt 9 ?

(A) (B) S B

( gl S (D) U geF @A I |
51. &6 WA R

(A) R B 9T

) TR-"RL (D) ¥RUEE |
52. ‘PR ¥ 1@ I’ ®) FT R

@ el (B) TR

(C) TRaYy o) T

IR [ PT..
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53.

54.

55. '

9% T@: € 9F Wen’ § 9’ wed=m R

W TEEETES HeH (B)

(C) Hre¥ETTH WA (D) @Wr
Y & WEl €9 F1 994 i ;

56.

97.

58.

59.

60.

14

e Wa Hal &
a) Y (B) @rel
{C) ket (D) Y==F |

= O 4 fFg w9 o 99 FRE & ?

(A) TWWMRIFATFEIRE B) THARWE @R
(€) T A =T Y e feu (D) ﬁw@mh

(a) m
€) T @

‘=wfa’ =1 wifen w9 g

(&)  =Hfast B) wfa

(€ gt (D}  Ffa@st |
e 3 3 v RN B et v % s @ 8, e ¥
@ ¥ B) TEH

() (D) <99 |

EC] e H 61 weg YU B @) I9F! e §

(A} &8 9™ B fop wH W

(C) TUH §HN (D) TIEY A |
TS 7= 2

(a) IS (8) 3IvEd

(C) 3I91§A (D) I )

(LR

S
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

31. The opposite of ‘similar’ is O

(A) unsimilar (B) insimnilar

(C) different (D) ne *
32. The word ‘approve’ is opposite in meaning to

(A) confirm

(C) accept

33. Pick out the word which is spelt corpec

(Al sinceerly ) sincierly

(C) sincerly (D) sincerely.
34. Which of the following s correct spelling ?

(Al knowlege (B) knowledge

(C) knowlidge (D)  knowlige. .

35. Which one of IMg words begins ( underlined ) with a different sound ?

(B) cool
(D)  city.
306. appropriate determiner :
My neighbour is ........ccooiiiinn. honest person.
Al a (B) an
(C) the (D) any.

37. Which one of the following sentences expresses ‘possibility’ ?
There are dark clouds in the sky. ......c..ooeiviin .
(Al 1t will rain (B) It shall rain

(C) 1t may rain (D) It must rain.

LT [ P.T.O.
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38.

39.

40.

41.

42,

43.

44,

16
Pick out the sentence which has the meaning as the following :

No other animal is as brave as the tiger.

(A)  The tiger is a brave animal

(B) The tiger is as brave as any other animal
(C) The tiger is the bravest of all animals

(D) No animal, except the tiger, is brave.
Complete the following sentence with the correct form of adjectivo
Anupam is ..., boy in the whole of the class.

(A) the tallest (B)
(C) the most tall (D)

Pick out the sentence which has the same m

The last question was the most difficult

(A The questions were very diffic
(B) The last question was maoare any other question.
(C) Some questions were ve

(D]  Only the last quest

Choose the correct o ds :
(A} Do you live w ? (B) Do live you where ?
(C) Whered liye ? (D)  Where you live do ?

Which of t ng has a correct sentence pattern ?
er a book. (B) He gave a book her.

(®)] her gave a book. D) He a book gave her.

The sky suddenly became ...................... .

(A darkly (B) dark
(C) darkness (D) darken.
Which one of the following words is a noun ?

(Al Write (B} Wrote

(C) Written (D) Writer.



45.

46.

47.

48,

49.

50.

51.

2.
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Supply the correct pronoun :
Arun and Lata have a house. .................ooll. house is quite big.
(Al  Their (B) His
{C) Her (D)  Theirs.
Point out the word which ends in a sound ( underlined } different fro at in other
words : '
(A} who (B) flew &
{C) slow (D) shoe.
Identify the word in which the middle sound ( underlined ) fierent from that in
other words : ¢
(&) seen (B) it
(C)  heat (< ;
Which one of the following words h ffefent sound ( underlined ) at the
beginning ?
(A} sure a) cell
(C) sell (D)  psychology.
Point out the word which ferent sound { underlined ) at the end :
(A]  laugh {(B)  graph
(C) high (D} 11

In which one of théffollowing words do the letters ‘th’ have a different sound
( underlined ) ? *

(A} this (B)  that
[C) th (D)  thin.
The f ald to his daughter, “When will you return ?*

ed Speech the above sentence will be :

The father asked his daughter
(A} when she would return ? (B) when would she return ?
(C} when she will return. (D) when she would return.

The teacher said to the students, “Be polite in your speech.”

In Reported Speech the above sentence will be :

The teacher asked the students

(A}  to be polite in their speech. (B) that be polite in their speech.
(C) to be polite in your speech. (D) that be polite in your speech.

IETHTLIT | P.T.0.
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53. My neighbour said to me, “I am going out for a few days”.
In Reported speech the above sentence will be :
My neighbour told me that
(A) he was going out for a few days. (B) he is going out for a few days.
(C) he will go out for a few days. (D) we are going out for a days.
54. The word ‘'magnificent’ is similar in meaning to
(A} very large (B) grand O
(C)  huge (D)  royal.

55. The word ‘bliss’ has a meaning similar to

(A) happiness {B) ger
(C) darkness {D)@oc e.
r

¢

56. Pick out the verb from the following :

(A Create cation

{C) Creator ) Creativity.
57. Select the correct verb form : %
ds.
(

Sachin has ..............a0,

{A) brokened Bj) broken

(C) broke 18)] breakened.
58. Fill in the correct orm, the verb : '

forel ......cvvivivnnnnnn, the station.

(B) had reached

D) was reached.

59. the following sentence :

fwe ..o a lottery, we will buy a car.
(Al will win (B) have won
(C) won (D)  win.

60. Supply an appropriate determiner :

Thave ....ocovevviiiienne. glass of milk every morning,
(A} the (B) a
() any (D)  some.



31.

32.

33.

34.

35.

(B)

(D)

36. ‘3H' YNl gz APR YIHFY THawd &9 wafq

@A e
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SECTION - 1II
LANGUAGE 11
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Pick out the correct sentence :

(A) There are shop near my house. (B) There is sho y house.
(C) There are a shop near my house. (Dj There i8¢ a sh ear my house.
Select the correct form of the verb : ¢
She ...coviiiiinnn, the right answer.
a) knows ( n
(C) is knowing own.
Fill in the correct form of the verb :
When the phone rang, we ........ [N elevision.
(Al watched (B) are watching
(C) were watch (D) were watching.
If Radhika had receiy, tion, she would have gone to the party.
The above sentence at Radhika

e tlg invitation (B) had received the invitation

e invitation (D)  did not want to go to the party.

ate determiner

The rifghsWnade of ..................... gold
(B) a

(8]} ( no determiner ) (D) any.

Mohan said to Savita, “Can I borrow your book for a day ?”
In Reported Speech the above sentence will be

Mohan asked Savita

(A) if he could borrow her book for a day

(B) if they could borrow her book for a day

(C) that could he borrow her bock for a day

(D] if that he could borrow her book for a day.

(L | P.T.0.
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67. She said to her brother, “Do not buy mangoes.”

In Reported Speech the above sentence will be

She asked her brother

{A)  to not buy mangoes (B) not to buy mangoes

(C) do not buy mangoes (D) do not to buy mangoe
68. The students said, “We want to learn a foreign language.”

In Reported Speech the above sentence will be O

The students said that O

(A)  they want to learn a foreign language .

(B) they wanted to learn a foreign language

(C) we want to learn a foreign language

(D) we wanted to learn a foreign language.

69. The word ‘courteous’ is similar in mea
{A) related to a court impolite
kind.

(C]  polite
70. Which word has a meaninE 2 tol'significant’ ?

(D)
(A)  prominent (B) magnificent
(D)

(C) efficient important.
71. Which one of the following words ends in a different sound { underlined } ?

. B) sky
(D) try.

72. Identi rd which has a different sound ( underlined ) in the middle :
(B) should
(8] (D) food.

73. In which one of the following words does the letter ‘I’ have a different sound
{ underlined ) ?
(A)  finish (B) final

€y fit (D) film.
74. Pick out the word in which the letters ‘ch’ have a different sound [ underlined ) :

(A) check (B) chess
(C) chemical (D) chairman.
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75. Which letter of the word ‘comb’ is not spoken ?
@A c (B) 0
C) m (D) b.
76. Which one of the following words is an adjective ?
(A) Use (B) Useful

(C) Using (D) Usefulness. O

77. Complete the following sentence with the correct option :

My grandfather walks very .........ocooiviiieiinns . P
(A) quick B} t1
(C) fast ()

78. Which one of the following has a correct tern ?

(A) She put all the books on the ta She all the bocks on the table put.

(C) She put on the table all the She on the table put all the books.

79, Choose the carrect pronoun to e following :
This book is .........coeives that one is mine.
{A) our book (B} your
(C) yours (D) yours book.

80. Choose the co
{A}) Why_sh leave so early ? (B) Why did she leave so early ?

(C) so early she leave ? (D} Why so early did she leave ?
81. C he sentence by putting an appropriate determiner :

You sheuld always carry ..........cocevinnne. umbrella with you.

@ a (B) an

[C) any (D) a few.

82. Manijit said to Anisha, "Could you please open the window ?"
In the above sentence Manjit is
(A)  asking a question (B} giving an instruction

(C) offering advice (D]  making a request.

I THEH [ P.T.O.
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87.

88.

89.

90.

46
No other member in the family is as intelligent as Raju is.
The above sentence has the same meaning as
(A)  Raju is intelligenter than any other member in the family
(B) Raju is not intelligent
(C) Raju is more intelligent than any other member in the family
(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adje@

It Was .civiiiiieccees car he had ever driven.
(A the more comfortable (B) the st comlo

rtable
({C) the comfortable (D)

comfartablest.
Choose the sentence which has the same me following sentence :

Mahim got a higher grade than any other s

(A) Mahim got the higher grade than e¥student in the class
{(B) Mahim got a high grade th y student in the class

(C) Mahim got the highest grade i ass

(D) Mahim got the high t grad the class.

The opposite of the word%tic' is

(A)  pessimistic (B) hopeful

(C) ideal (D)  dull

‘s%pposite in meaning to that of
(B) ignorant

(D} guilty.

(B)  varietey
(C)  varietd (D] variety.
Which one of the following has the correct spelling ?

(A)  impresive (B) imprescive

() impressive (D)  impressiv.

Point out the word which begins with a different sound ( underlined ) :
(a) house (B) home

(C)  honour (D)  hen.
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{C) oloj 824 ©9iz1L Gsisal.
A dideit sicell

e

SineNE Rt vt &dl, dl veudl ¥ Aadil Sicell udldl (Ra sal s ?

(A)  JRdle ¢ (B) 2sdi2
(C) (D) 2AdarR.
a2 24eell el ud &

(B) G

(D} M.
viielleyoau ypl. (Riefl, s218l, ............ , Sianas).
Ay GE (B) ciduoll
(C)  apEvadl (D) ueodl.

“Ut AlSA oA o 2L 222 AS1A B [Akiet 201 YRida [Atuat 20&N.
&)  Fedls oA 21 2214 25124 B

(B) otll o121 211 22214 21512 &

(C) 3eclls o2t 2 222e1 Uz defl As1d)

(D)  au 22219 uR As1A GiEll o2 dlsd sl 9.

IEHILL [P.T.O.



84. 9 [oe@Rdl : Riaet, dl yp : ?
(A) oia (B)  aeaue
(C)  enitl (D) (Aotel.
ofidell WFaad e Usell 85 el 88 ot vauot 2.
Hol ol yedlofl 65Hd HAL A5 gkl dl
udai dl 51§ ¥ aegsy 2L v sietell
Ut Hdl vvrll-nuegev-ugy o Slesel ()O

citldd Pelell ¥ &5, GLldlell &5 o2fl

85, 5ldoll udcl a2gsu sal ol ? &
(A)  otid Madial &5 8 @
(B) ool gLidiell &5 Sldd otefl @
(C) otud Yadiell 655 8, 1€l Hoeldl &s5VAl)
(D)  vivll, Hofrar Hal uggAlA il '

86. slaqa Fecu 2% we yadlall 2w Haq

*

(A)  DqsofR (B) dion 2ma "2
(C) st 2Ana w2 (D)  dcid 51 24a We.
87. uillsiz W sici sl 8 7
(B) aagsu
(D) euq

88.
(B)  uvll, Hepe, yey, Slesl

(D) Hepa (raieil au 2Ampal.
89. sl 521 UsRHL 2le ulsaal Sla & ?

(A) e (B] 2Mde

(C) css (D) o1y,
90. “‘9 52 R uREj, d YA U2 ARt 53.”" Hi Sledl wd s2ami sudl B ?

(A) [uas (B) a3

(C) wa (D) 2.
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Section - IV / GUE - IV
MATHEMATICS / o
There are 30 questions in all in this section.
All questions are compulsory.

WA Y F 30TH T |

|t w7 sifar € o 0

91. The value of 15 coins of 25 paise each is equal to N

L. 3 coins of one rupee + 1 coin of 50 pdisegs 1 C6in of 25 paise

11. 2 coins of one rupee + 3 coins @ 50/paisé€ + 1 coin of 25 paise

III. 3 coins of one rupee + 3 paise
IV. 3 coins of one rupe oing of 25 paise.
In the above four, the wr statergént is
a1 (B) 111
cy 1 (D) IV.
) 2
2590 F 1 HH SO}

To % 3 far + 50 & 1 fagm + 2599 &1 wF faa
T %o & 2 fgeF + 5078 &% 3fgar + 25 99 &1 = faga
[II. &% & 3fg9F + 259 & 3 fass

IV. U %o 3fgar + 2590 & 2fawF

I9gw WR A W e FuF T
@A 1 B I
€ 1 D) IV.

L-1

[ P.T.O.
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92.

93.

94,

68

The arrangement of the fractions % , % , % . % in ascending order is
MENEE
fe 2.8 103 oo
w2338 z.%.aé)O
o 5.5 2.2 o 24£3 8
If the cost of 5 pencils is 3% rupees then the encils is
(A) Re. % . %
afz 5 fwe @1 g7 33 Fo %ﬁ'mt@ﬁm
A 2w ® 2w
© 3 R D) % %o
Which o ollowing statements is true ?

not a prime number (B) 1 is a prime number
(C) 1 is a composite number (D) 2 is not a prime number.
feAdfdsR-w s wd ¢ ?
(A) 13Ty e T @ B) 13 Hem ¥
C) 19gs¥&® (D) 23 gE TE ¢ |
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95. The prime factors of the number 720 are
(A) 2x2x3x3x2x5H (B) 2x3x4xHx6
) 3x3x4x4x5H (D) Z2x2x2x2x3x%x3x05H.

& 720 % S OGS §

a) 2x2x3IxIx2xH (B)

(C} 3x3x4x4xb (D)

96. A person took some loan from a bank at th

back Rs. 7,250 after 3 years then what is

(A) Rs. 5,000
(© Rs. 6,500 %@[D) Rs. 5.500.

(A) 5,000 Te (B) 4,500 %o
L
(C) (D) 5,500 %o |
97. What erest on Rs. 500 for six months with a rate of interest 8% calculated six
mo
(Aa) Rs. 20 (B) Rs. 30
{(C) Rs. 48 (D) Rs. 40.

500 o T 6 UEIN H1 8% ! THE! T ¥ =4 &M
(A) 20%o (B) 30%o

(C) 48%e (D) 40%o |

L [ P.T.0.
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[c]

98. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a

gain of 10% to another person Z. What is the price at which Y sold the article to Z?

(&)  Rs. 100 (B) Rs. 99

(C) Rs. 110 (D) Rs. 101.

TF A% X, 100 Fo F I FI, 10% i 51F A A v & a9 a0 § , F 10%
AR AE ZzR IM M, @ Y A FE g W ag Z F A= ? 0

(A)  100%o (B) 99%o

€ 110% D) 19& .
99. Which is a plane in the following ? @
{A}  Paper sheet ) SS

(€ Bal Cylinder.

fraagell § @ FA-H goaa ¥ 2 @2
Ay wH 6 B) e

© ' (D) oA |

100. Which of the follo ents iIs not true ?

{A)  The figur

orrr‘e by two rays passing through a point is called an angle

(B) re formed by three line segments is called a triangle

(9] formed by three lines is called a triangle

a rectangle the length of opposite sides is same and each angle is a right
angle.

fAddsR I FuT ¥ ?

() fodt T fag @ @O0 T D ol @ T sl | P wEd ¥

(B) o=t o9 t@mavel | fodl g8 9 ofravfa &1 oyt #wga &

(© o=t = s | 50 ol # e wea €

(D) 39 W AHA-FEA T OIS F A THAM B ¥ A WS H0) THFRO T @
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101.

102.

103.

71 L-1
On subtracting 8 metric tonne [ mt ) 50 kilogram from 12 metric tonne 8 quintals we
get

(&) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg

(© 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.

12 Hifew =7 sfaa=a d ¥ 87ifgs =7 50 fFdum w=m W wa & ? §
(a) 3Tifew 27 8faeew (B) 4vifgs A 7

) 4¥fgw 3 gfwea 50 e 1w (D) 50 fohet Tmm |

A tank has 400 litre water. If 12 litre 500 ml watefis use@yfrom it and the remaining

water is filled in 25 cans of same capacity, thed'w isghe capacity of each can ?

(&) 121t 500 ml 1t 500 ml
() 151t 500 ml ) 14 1t 500 ml.

TF <ot A 400 WX at #F | q 500 frefteitet ot &9 ¥ o4 ¥ 1% 99 I F
99 & ¥ 25 fesdl fes3 &t gman

A 12§ 500 (B) 137 500 fred

(D) 14« 500 fa=t o

(B) 300 sec

€

1
12 hour (D) one hour.

HSt # wel g ¥ fFa ofw A SiF e o 9% e § T 91 999 & fog = | 9 sE-w

a) s5fre (B) 3009%<

LA (D) T& ©=T |

LR | P.T.O.
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104. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted fileld is

A) 1100 m (B) 525 sq.m
Q) 1100 sq.m (D) 525 m.
& FAdER BEH it o 60 W odw w@eR 40 § 1 39 An) WE 5 der’ #
oI @S S A AT T A S8 S &A% &M 2
A) 1100 (B)
(© 1100 Hi ) SH |
105. A rectangular photo frame X is of 90 ¢ and 70 cm width and a square frame Y
is of side 80 cm. Then which of t ng is correct ?
(Al  Perimeter of fram sq.cm
(B) Perimeter of £ 6400 sq.cmn

(C) tﬁ X and Y frames is same and is equal to 320 sq.cm.

(D) of both X and Y frames is equal to 320 cm.

o9 % %0 X F W 90 9t dur dsE 709 ¥ o Uw awmiww W Y® &
goud g Mif i aF-mFwm a ¥ ?
(&) W X w1 9fmEm 6300 7 Ff Fm
(B) ¥ Y T 9REN 6400 1 {9 w0
(© I wE X qur y &1 9y sueR @ 320 76 9 g

(D) < WA X 9 Y 9iET 320 A F = ' |
MHHHnn
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106.

107.

108.

73 L-1

Write the following four numbers in descending order :
I. 4203567
. 4203657
1. 4203756

IV. 4203675

(A) LI, I, IV B IL IV, I, I O
(© I, I IV, HI (D) I, I, IV, I.C)

Frefafas 3r vensd = seael w9 § fod . .
I 4203567 &
II. 4203657 @
II. 4203756 @
IV. 4203675 < ‘BL
Ay I, IL 10, IV @ ) I, v, 1L 1
(€ LI, IV, III 6 D) IIL I, IV, L
One crore is equal to
(A) 100 lacs (B) 1000 lacs
{C) 10 lacs (D) 100 thousands.

T HUG T
(B} 1000 @ &
(D) 100 TR & |

T. er 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be
written as

(A} 59004988 (B) 590400988

(C) 509049088 (D]  50904988.

TE 5FIT 9 W@ 4 F9RK 9 H a3t @ it ¥ for@n W W e #

(A} 59004988 (B) 590400988

(C] 509049088 (D) 50904988,

AR [ PT.O.
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109. The population of a village is 78692. Qut of which 29642 are men and 28167 are

110.

111.

women and the remaining are children. Then the number of children is

(A) 20883 (B) 21883
(C) 20893 (D) 20783.
T& T it Fo SHE 78692 % 1 T W 20642 T ¥, 28167111?@ EC A

(A) 20883 (B) 21« *

(C) 20893 (D) %

If we divide zero by 60, then the di %sor, quotient and remainder are
respectively Q

{A) 0,60,00 @[B] 60,0 1,0

) 0,60, 0,1 (D) 60,0,0, 1.

T H 60 FH I ]| , Thel U8 ohe e

) 17 (D) 51.

HEf 425 91 476 F1 TewH GAYEHE ( Ho To Jo)
@a 4 B 5

< 17 (D) 51.



112,

113.

114.

75 L-1
What is the least commoen multiple ( LCM ) of the numbers 90, 60, 75 and 35 ?

(A 2700 (B) 6300
(C} 4250 (D) 2750.
T&msl 90, 60, 7599 35 F1 AYIH FHIEE ( o Ho Wo ) §

@ 2700 (B) 6300 O

(C) 4250 (D) 2750.

L 4
Five persons paint a house in 3 days when they wérk ours everyday. Then if one

person works 4 hours everyday, how much ti y Jwill he take to complete the

Qh?
%@DJ %.
T& HHM FI qais 5 A, Q3 T 3T H s E @ 1 =, 490 U FH =&
) .

39 FM # fr A o
@ 30 (B
¢

(D)

same work ?

A 30

© 2

ale vig

The btained in 4 subjects in an examination are 200. If the average of marks

n 3 subjects is 48, then how many marks are obtained in fourth subject ?
(A} 50 (B) 144

() 152 {D) 56.

T T # W fawa ¥ ww FA ofF 200 % 1 AT A9 fawdi o ww e w1 ofwg a8 @ =9
o # wm 3w ¥

(Al 50 (B) 144

C) 152 (D) 56.

(LN [ P.T.O.
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115. A person sold a cycle at Rs. 935 with a gain of 10% then at how much amount did he

purchase the cycle ?

(A) Rs. 945 (B Rs. 850

[C] Rs. 925 (D) Rs. 1,085.

T =id A TF "efad 935%0 § 10% @Y W & 391 98 o ¥ wliE ot ?
*

(A) 945 %o B) 850%0

(C) 925%0 ( 088 o |

116. Which of the following is true for a t

(A)  All the angles are always €

(B} One angle is al @r—mgle

(C} One angle i

ways an obtuse angle

(D) e i¥always an acute angle.
¥ fore Frer & @ wi-w s e ¥ 2
(A) THE HU HIF = H G E

(B) TF HIU G GHEI Tl ©

C) UF Fu Wy fus & gt &

(D) UF HIV Hed A R AT |
LT
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117. How many triangles are there in the following figure ?

) 3 (D)

fr= fax o fopam fym ¥ 2

&

¢ (B)

©) (D)

118. Th of all interior angles of a square is

) 180° (B)
C) 270° (D)
oA & IR S AT e R
(A) 180° (B)

C 270° (D)

UHHH

4

6.

360°

none of these.

360°

T | T |

S

L-1

| P.T.O.
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119. Which of the following statements is correct ?

120.

{A) A square is a particular type of rectangle
(B) Arectangle is a particular type of square
(C) Every ray is a line segment

(D) Straight angle is of 90°. c)o
frrAdda-wFm o g ? &
(a) o T favie yER 1 9 g E @
B) A T a9y yar &1 o9t g @ Q@

C v T wE TEETs gl

(D) FF / T B & ° |

s to take one round of a ground. A girl has run

en how many rounds has she taken and how many rounds
*
o take in order to complete a run of 3 kilometres ?

(B) 30, 90
(D) 30, 9.

ford! #qF &1 TF IR oA B 250 W A IS ® 1 TF AS& 75000 g g ¥ 1 9w
fem Tt oK oM 3 fFdt %1 g ¢t 0 & fou 3/ e e gt o Bt 2

A 3.9 (B) 30, 90

(G 3,90 (D) 30, 9.
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SECTION -V
s -V

ENVIRONMENTAL STUDIES
UHieRuT 3G

There are 30 questions in all in this section.

All questions are compulsory. 0

W Ers § 3o 30T ¥ |
Tt e yfant € |

& o
121. Which of the following has maximum speed * @
(A) Air @Water Current
(C) Sound 6@0) Light.

(&) wa (B) ST

D) =R |

converted into electrical energy by a solar cell ?
hemical energy (B) Nuclear energy
(C) Solar energy (D) Magnetic energy.
R e g Tohd ool &) faege o1 B ogen o Wb § 2

(&) TEmEfE el B) g S

(C) WHT Fll (D) = S |

(LT [ P.T.O.
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123. Maximum amount of gas found in air is

{a) oxygen (B) carbon dioxide

(C) hydrogen (D) nitrogen.

g § gaifyes A # W S arelt e ®

(A) Al B) FEA msﬁwe):
L 2

) TESIE (D)

124. Renewable source of energy is

A Coal Petroleum

(C) Plants 6@(0} Uranium.
S SR S S @

(A)  wrE |) IfeH
(C) ¢ (D) FFE
125. Ozone ound in

hermosphere (B]  Stratosphere
{C) Troposphere (D)  Mesosphere.
e W fHerdt @
(4)  yHiERER o B] WITHWH
(C) R H (D) foerERRR W |
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126. Full form of CNG is
{A) Common National Gas
(B} Compressed Natural Gas

{C) Common Natural Gas

(D) Certified Natural Gas. : O

AT = 0 T ¥

@) HEE e
(B FHR Y@ g
(©) A T 9
(D) WiwEs Fg@ 19 |

127. Wildlife Week is celebrate

4 1st October t

(B) 15th Oct tog1st October
(& th June

(D) une to 21st June.
A) 1 W Y 7 TR qF
B) 15 3Ea Y 21 Faga aF
€ 15FA8 75 TH

(D) 15SF 9 21 A TF |
LT { P.T.O.
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128. State tree, state bird and state animal of Rajasthan State are
(A) Khejari, Godawan, Chinkara
(B} Khejari, Peacock, Tiger

(C) Babool, Godawan. Lion O

(D) Mango, Peacock, Tiger. & .
U 59 & U9 g8, ToF W Qe o9 S e @

(A) @S, memEy, fHwm Q

(B) weiEl, AR, W™

() w9, e, W 6

(D) =W, AR, 9™ |

2 2
er, the distance between the molecules i1s minimum ?

129. In which statg o
(B) Liquid
(D)  Plasma.
e Y R TRy ¥ supel % Wew w gl A9 € ® 2

A B8m B T

© T (D) AT |

QLELITE T
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130. Which state is known as Tiger State’ ?
{A)  Rajasthan (B) West Bengal
(C)  Gujarat (D)  Madhya Pradesh.
FHA-W T 'THR L' F A9 F T SR
O
O

(A) T (B) e

¢
(€ TSUd (D)
131. Carrier of Dengue disease is @

(A)  Aedes mosquito Q Culex mosquito
@ (D)

(C} Housefly 6 Anopheles mosquito.
<7 AN F1 TRF ? %

(A) TN TN (B) FoiEd AT
.
(D) TATRfES =3t |

132. The bj al laboratory of human body is
(B) liver
(C) intestine (D)  kidney.
a7 % IR i AA-TEECE FEene €
Ay HRTE (B) IHd
© enx D) FF |

UL [ PT.O.
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133. Aim of Pulse Polic programme is

A treatment of Polio

(B) stop paralytic effect of Polio

(C) complete eradication of Polio

(D} all of these.

Tod N FrHT F IR ¥

(&) difeE w1 STER &
B e @ v e w @
() e F Tl IREE FE @

(D) Q

134. Kashmiri Gown is known as

(A)  Firan @ (B)
(C) Bugtari (D}
FIHR =M R

@ feE (B)
(C) (D)

135. itat of Dog fish is

(A)  River (B)
[C} Lake (D)
He AT F AT §

@ (B)
) (D)

g&T |

Pond

|5 |
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136. City of Lakes in Rajasthan is

(A)  Jaipur (B) Jodhpur
(C) Udaipur (D) Ajmer.
T H wel w TR ¥

@A) A (B)

NSS!
WS,

() 3TTIR [D)QTI&Q
9

137. Who built the Vijay Stambha [ Tower of Victo

(A) Maharana Kumbha aharana Sanga

(C) Maharana Pratap @2} Maharaja Jaisingh.

foog ww fopa a9aman ?

(A)  TETUN FHE (B)  TETUN |
(€) WEWIUm WY (D)  HETST SgfeE |
*
138. Following t ign indicates :
(A)  Major road (B) Pedestrian crossing
{C) Railway crossing (D)  Narrow bridge.

LR [ PT.O.
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139.

F=ifera amarama G = a1

L

@ TEEES

() YE@ st

Full form of ATM is

(A) Automated Teller Machi

(B)  All Time Money @
zM

{C) Automated

{D) i Machine.

(A HEMET TeR TEiA

(B) 3ffer 23R A

(C) ofEHes Ta®L /YA

(D) 3ifse oo’ wEfA |
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140. Message sent by computer is known as
(A) SMS {B) FAX
(C} E-mail (D)  Telegram.

FIRE & A F WY T 9 69 Y heEd §

(A) wHTEL" B ()O

© 37« ¢

(D)
141. In case of fraud or unfair business behaviourgWwe Should lodge a complaint at
(A) Consumer Protection Forum

(B) District headquarters Q
(C) Tehsil @
(D) Gram Panchayat. 6

St Sgan i W g8 g st wfee
(a)  TYHIET HIE
(B)

(C)

(D)

142. Ho any members of Rajya Sabha are nominated by the President ?
a 12 (B) 18
20 D)y  22.

TP gR1 TeEEs B ffas e wEe g ¥ 7
@ 12 (B] 18

(C) 20 (D) 22,

(TR [ P.T.O.
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143. District industry centre provides employment to urban and rural youths under a

scheme known as

A)
(B)
()

(D)

Prime Minister's Gramin Sadak Yojana
Prime Minister's Rojgar Yojana

Jawahar Gram Samriddhi Yojana

Swarna Jayanti Gram Swarojgar Yojana. O

Toren e =% ff Ao & d8d TEd @ WHY ga@h! H e i ¢ 2

A
(B)

(©

(D)

JUHS TTH g A1 @
TUAHAT TSP Frer @
S e s A Q~
Tl S U TRISTR e 1%

e

144. Which country has the maxim@ r of tube-wells in the world ?

A)

(&)

America @ (B) Australia

China (D) India.

Haw i s famat?

(A)

(C

B i

(D) Yid |

145. The Gangaur festival is celebrated on

A
(B)
(C)

(D)

Chaitra Shukla Tee;j
Shravan Shukla Teej
Bhadrapada Krishnapaksha Ashtami

Chaitra Shukla Navami.

REITVHEAIN
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TR 1 TR T WA §
(A)  IF yEd O @
(B) HEU Pad d &)
(C) VTEUS FOT9& FH Hi

(D)

A T A ()O

146. Nuclear family refers to

(A)

(Bl

(&)

(D)

A

(B}

(C)

(D)

147.

(A)

(C)

THd SfER € aead &
4 1950 % %

& >
any family born after 1250

only husband and wife.

ddiction is due to

Cocaine (B) Calfeine

Nicotine (D) Histamine.

T 1 Ied foRa | T § 2

A)

(C)

HIHA (B) HHSF
fAemrfea D) fewd=T |

(LT [ P.T.O.
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148.

149.

150.

90

What are the minimum ages for marriage of boys and girls in India ?
(A) 21 years and 18 years
{B) 18 years and 21 years
(C) 18 years and 18 years
(D) 18 years and 16 years.
YR ¥ TS ° TIgihal i faarg dma =aw g 7= § ? ()0
() 21799 1894 & .
B 18 Wq 213 @
€ 18393 187=W @
(D) 18999 1699 | Q
Main occupation of people of Raj@
(A)  mining % (B) bakery
(C) poultry farming (D}  agriculture.
TSTEITT & A

B) &=

D)  F|

(B) Nimbahera

(C) Udaipur (D) Bhoopal Sagar.
TR ¥ e # ¥ ffE W W e 9 1 SIEE 98 8 7
A)  FIETAYRA (B) e

(C) 3SR (D) Y9I WK |

ATREAR
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INSTRUCTIONS /
| Read carefully and comply / &1 ﬁ%aﬂ? A Y )
IMPORTANT /

1. In Section 1l {Language I} a candidate has to attempt the questions of the language which the candidate has selected as
Language ] in the Qnline Application Form.

GUE 11 (9T 1} B IG WIeT F G B T B S & g A wae el | W [ % w9 F AFema seea-ad O Rear

2. In Section [II (Language II) a candidate has to attempt the questions of the language which the candidate has selected as
Langua, 1?6 Il in the Onhne Application Form. The Language 11 wil! be different from Langua,
& (1) F T aar & f e o 9 et A Wi 0 % o e urﬁqﬁﬁmﬁlm|wuﬁﬁmﬂfﬁ|
3. The candndatc mqst ensure that the Queston Booklet No. has been filled correctly at the prescribed plaees in t MR Answer Sheet.
OMR YT % fAuifm wm W we= ufias wais 98 WO
1. Read complete instructions carefully and fill the details from SJ. No. 1 to 6 in the OMR Answer She, . 1to4in the

Question Booklet. If you fail to fill the deteils and sign as instructed correctly, you will be pe
consequences arising during scanning of your Answer Sheet.

sponsible for the

it =+ qof w9 @ 7% 3N FHT 1 ¥ 6 TF OMR ¥iiz UF FAiF 1 & 4 aF T e (3 ¥ of% a9 e T §
famm Wit a1 gemeR @ & A oMR ¥iz T BhAm & Ferasy 27 At sRomst & o e @ SEvesdi

2. OMR Sheet No. should be written in the space provided in the Question Booklet,
OMR ¥ite HG1 W e 8 & i A Y ot e i)

3. The Question Booklet comprises 96 pages having 150 questions. After being instructéd to open Booklet, only then the candidates
will open the Question Booklet seals, Check whether the Booklet contains 150 que starti om Page No. 3 to 90
v A 96 75 a4 150 W¥ &1 wdiemd Prewr i R % Swr 6 W 7 & we g 4
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4. All questions arc of MCQ (Multiple Choice Qucstions) type. There i t answer to each question carrying one
rnark There will be no ncgative marking for wrong answers. . .
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5. All questlom other than language questions of S8ections I @ .
W U & VTN FRafaa @vE 0T m S A9 & sfaiow vy s T T
6. In any event of any mistake in ary question/s, candidafte penahzed However no corrections will be made in
uestion/s during the examination,
TN B (R Az o o T Y farel e 7 orafer o el o fewt s e T S
7. Rough work, if any, may be dane in the Question in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper s ;
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8. Use of Log tables, Calculator, Slide rule, Mabi ager, Digital diary or any other electronic item/instrument etc. is not

allowed Their use will result in disquali
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9. OMR Answer Sheet will be provided
OMR T2, 79 & W ol
10. The Question Booklet will b

and OMR Answer Sheet. The an Booklet seals shall be opened at 11:00 A M. After opening the Question Booklet, ensure

that any page/ question is not 'ssmg / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately infgrm the igilator and get it replaced within 10 minutes by the [nvigilator, Warning Bell wil) ring at
12:25 P.M. and the last | bc w1 I ring at 12:30 P.M.
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ntre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signhature in the
the Question Booklet as well as in the OMR Answer Sheet.

Wiz w fifed ®@E | i 5% 0 g, Id T4, OMR ¥iE i, T JRas Haw, 97 A 7 310 swni &)
estion you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR
eet corresponding to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not

11. Write y

12.

allowed.
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Correct method :
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13. OMR Answer Shcet is designed for computer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only.
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14. No candidate should leave the Exarnination Hall before the final bell. The Question Booklet as well as the OMR Answer Sheet
should be handed over together to the Invigilator before leaving the Exammanan Hall,
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